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RELAÇÃO DO AÇO

AÇO N DIAM
QUANT

C.UNIT C.TOTAL

(mm) (cm) (cm)

CA50 1 6.3 515 27 13905

2 6.3 564 94 53016

3 6.3 65 118 7670

4 6.3 241 106 25546

5 6.3 179 33 5907

6 6.3 111 25 2775

7 6.3 148 100 14800

8 6.3 20 116 2320

9 10.0 34 198 6732

10 10.0 30 250 7500

11 10.0 84 363 30492

12 10.0 34 415 14110

13 10.0 116 113 13108

14 10.0 4 61 244

15 10.0 2 100 200

RESUMO DO AÇO

AÇO DIAM

(mm)

C.TOTAL

(m)

PESO + 10%

(kg)

CA50 6.3 1259.4 339

10.0 723.9 490.9

PESO TOTAL

(kg)

CA50 829.9

Volume de concreto (C-30) = 5.77 m³

Área de forma = 106.54 m²
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